








Replacing the term in the square brackets by 5, we have
Y =Rs. 1000 x 5 = 5000
A We can see that with an MPC of 4/5, the multiplier is 5.

We may also express multiplier in terms of the marginal propensity to save, thatis MPS

S i
Multiplier = ———=
ultiplier T-MPC
Since MPS =1 - MPC, we have
f g 1
Muiltiplier VIPS

i.e., if MPS were 1/x, then the multiplier would be x.

In our example, the MPS is 1/5. Let the investment expenditure increase by Rs. 1000 crore.
Planned saving will have to rise till it equals the new and higher level of investment, in order to ‘bring
output to a new equilibrium. The only way that saving can rise is for income to rise. With an MPS of 1/
5 and an increase in investment of Rs. 1000 crore, income must rise by Rs. 5000 crores to bring
forth Rs. 1000 crores of additional saving to match the new investment. Hence, at equilibrium, Rs.
1000 crore of additional investment induces Rs. 5000 crores of additional income, in line with our
multiplier arithmetic.

Problems of Excess and Deficient Demands and Measures to Correct Them

Thus far, we have studied the determination of output,income and employment in the Keynesian
framework. The equilibrium level of output, income and employment was determined solely by the
level of aggregate demand. The economy will be in full-employment equilibrium if the aggregate
demand is for an amount of output that is equal to the full-employment level of output. If the aggregate
demand is for an amount of output less than the full employment level of output, then it is known as
deficient demand. If the aggregate demand for a level of output is more than full-employment level of
output, then it is known as excess demand. We will take up the problems of and remedies for excess
and deficient demand individually.

Problem of Deficient Demand

If aggregate demand is for a level of output less than the full-employment level, then a situation
of deficient demand exists. Deficient demand gives rise to a ‘deflationary gap’, which causes the
economy’s income, output and employment to decline, thus pushing the economy into an under-
employment equilibrium. Figure 7, depicts the situation of deficient demand.
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Fig. 7 : Deficient Demand/Deflationary Gap

The Y-axis measures the aggregate demand. The X-axis measures the level of output and
income. 0Q' is the full employment level of output and income. (C+1)_is aggregate demand curve.

For the economy to be at a full-employment equilibrium, the aggregate demand should be for
a level of output equal to the full-employment level of output OQ'. In other words, aggregate demand
should be equal to Q'F.

Supose, however, that the aggregate demand is for a level of output Q'G, Q'G is less than QF. Then
aggregate demand is for a level of output which is less than the full-employment level. This level of
aggregate demand corresponds to point G on the aggregate demand curve (C+1)_. Thisresultsin a
situation of deficient demand. The resulting deflationary gap created due to deficient demand is
represented in Figure 7 by FG.

The deflationary gap is called deflation because it sets in motion forces that cause deflation,
i.e., fallin price level.
Problem of Excess Demand

If aggregate demand is for a level of output more than the full employment level, then a suituation
of excess demand exists. Excess demand gives rise to an inflationary gap; which causes arise in
the price level or inflation. Figure 8 depicts the situation of excess demand.
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Fig. 8 : Excess Demand (Inflationary Gap)
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Suppose that the aggregate demand is for a level of output QG. which is greater than the full-
employment level of output. This level of aggregate demand corresponds to point G onthe aggregate
demand curve (C+l) This is a situation of excess demand. The resulting inflationary gap, created
due to the excess demand is represented in Figure 8 by FG.

The inflationary gap is the amount by which the actual aggregate demand exceeds
the level of aggregate demand required to establish the full-employment equilibrium. The
inflationary gap is a measure of the amount of the excess of aggregate demand.

The inflationary gap is so called because it sets in motion forces that will cause inflation or a
rise in the price level. At point G, the aggregate demand curve (C+l) lies above the 45° line. As a
result, the aggregate demand Q'G is greater than the level of output OQ’. The effect of this will be to
create demand pull inflation (an aggregate demand induced rise in the price level).

Remedy for Deficient Demand

In order to remedy the problem of deficient demand, the aggregate demand has to be
increased by an amount equal to the deflationary gap. This will move the economy to the full employment
equilibrium at point F.

The aggregate demand may be increased by taking recourse to fiscal policy, monetary policy
or both.
(i) Increase in government expenditure

We shall first consider the fiscal policy measures to increase aggregate demand. This may
be done by either increasing the level of government expenditure or by reducing the amount of taxes.
We will consider only increase in government expenditure. If the government expenditure is increased
by an amount equal to the deflationary gap, it will restore the economy to the full-employment
equilibrium.

(ii) Increase in availibility of credit

The problem of deficient demand can also be solved by taking resort to monetary policy
measures. The aim of the monetary policy measure is to cause an increase in the investment
expenditure by firms. This may be done by increasing the availability of credit.

More credit can be made available by taking recourse to the various instruments of credit
regulation. These are explained under functions of central bank.

Remedy for Excess Demand

As we have seen earlier, if aggregate demand is for a level of output greater than the full
employment level of output, then a situation of excess demand exists.

In order to remedy the problem of excess demand, the aggregate demand has to be reduced
by an amount equal to the inflationary gap. This will keep the economy at full employment equilibrium
but will lower the price level and thus combat the inflation. The aggregate demand may be reduced
by taking recourse to fiscal policy or to monetary policy.

(i) Reduce Government Expenditure

Reduction in government expenditure will reduce aggregate demand and remove the inflationary
gap. The fall in government expenditure should be equal to the inflationary gap.
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(ii) Reduce availability of credit

The monetary policy measures, explained under functions of Central bank will combat the
problem of excess demand through areduction in the availability of credit. This decrease in investment
demand would cause a decrease in aggregate demand until the inflationary gap is eliminated.

UNIT9

Capital receipts and revenue receipts

Capital receipts are receipts that either create a liability (for example - borrowings) or reduce asset
(for example disinvestment of PSU).

Revenue receipts are receipts that neither create any liability nor reduce any asset. Tax revenue or
non tax revenue are revenue receipts as they neither create any liability nor reduce any asset.

Capital expenditure and Revenue expenditure

Any expenditure by the government that either creates an asset (for example construction of school
building etc) or reduces a liability (for example repayment of loan) is categorised as capital expenditure

Any expenditure by the government that neither creates an asset nor reduces a liability is catagorised
as revenue expenditure, (for example interest payment, subsidies, grants given to states even if
some of these may be for creation of assets).

Implications of fiscal deficit.

The extent of fiscal deficit is an indication of how far the government is liviing beyond its means.
Fiscal deficit is the amount of borrowings the government has to resortto meet its expenses. Alarge
fiscal deficit means large amount of borrowings. This creates a large burden of interest payment and
repayment of loans in the future. A large fiscal deficit may also be inflationary.
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